o Solme one-step problems thaly irwolve addition and, subtractions using concrete objects
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of ttems i two groups by counting all of themy 3 + 2 . . .
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Childrery begin to- subtract unite fromv a large group: using physical objects e.g. .0‘
Maths makes sense cups. counters, Numicor shapes:

Thesy counb each, objech to-find how maryy lefte | ‘*.\‘\
Teacher models the language e.g. 6 cups take away 3 cups equals 3 cups.

Pupils should be taught to:
* Read: write and interpret; mathematical statements inmoliing subtraction (- signs
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o » Solve one step problems that inmolwe subtractions and, addition using concrete objects and, pictonial
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Model subtraction using hundreds squares: and, practically, OOEOEE
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Tom has 8 stickers. How many stickers does Sam have?
NCETM website for more examples

Write a number sentence you could use to solve the problem.
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Hour manuy legs wills 3 teddies hanve?
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/Gr\oupmg/ There are 3 sweets i one bag,
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Show pupils pictures or groups of objects like the examples below. Ask questions such
as ‘How many biscuits are there altogether?

‘How many cherries are there altogether?’
Observe how pupils count the abjects. Do they count in twos, fives etc. or do they
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Pupils should be taught tor
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Childrery will, start, withy practical sharing using o wariely of resources. They will; share objects into equals
groups irv o vartely of situations. They will begin to- use the vocabulary associated, withy dinision i practicals
contents.
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Fred has 8 stickers: he shares them between 2 childrer @LLJJ
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Grouping
Childrery will: mose: fromy sharing to- grouping irv o practical way
How- many groups of L. carv be made with 2 stars? = 3

Pub 20 crayons into groups of 10. Hour many pots do- we need?”

Use: arrays to- support eanly dinision OO DS
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‘How many faces altogether? How many groups of two?
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MJStEFI|' Sl - see,
w Sarah is filling party bags with sweets. She has 20 sweets altogether and decides
NCETM website: for mores examples to put 5 in every bag. How many bags can she fill?
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